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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

SECTION - A

What are the two factors on which the lateral displacement of an emergent ray from a
glass slab depends ?

How ethanoic acid got its name as glacial acetic acid ?
Mention any two methods of garbage disposal.
List two components of ecosystem.

The given diagram shows an object O and its image I. Copy the diagram on your
answer look and draw suitable rays to locate the lens and its focus. Name the type of
lens in this case:

T

I @)

A 4

A student sitting at the back of a class is not able to see what is written on the blackboard.
He however, sees it clearly when sitting on the front seat at an approximate distance of
1.5m from the blackboard.

(a) Name the defect of the eye he is suffering from.

(b) Draw ray diagram to illustrate the image formation of the blackboard writing by
his eye lens when he is seated at the back seat.

For driving a car what type of mirror would you prefer to see traffic at your back and
why ?

How did the Chipko movement ultimately benefit the local population ?

(i) State the Modern Periodic Law
(i) How many periods and groups are there in the modern periodic table ?

An element X has mass number 35 and number of neutrons 18
(a) Write the atomic number of X

(b) Give electronic configuration of X.

() To which group and period does it belong ?

What are non-renewable resources ? Give two examples.

List two advantages of vegetative propagation.

With the help of a diagram only show regeneration in Planaria. Regeneration is not
possible in all types of animals. Why ?
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14.

15.

16.

17.

18.

19.

20.

Give reasons for the following:
(a) Danger signals are red.
(b) The sun can be seen about 2 minutes before actual sunrise.

(c)  We cannot see an object clearly if it is placed very close to the eyes.

A student focused the image of a candle flame on a white screen by placing the flame
at various distances from a convex lens. He noted his observations in the following
table:

Distance of the flame from the lens Distance of the screen from the lens
(cm) (cm)
60 20
40 24
30 30
24 40
12 70

Analyse the above table and answer the following questions:
(a) What is the focal length of the convex lens ?
(b)  Which set of observations is incorrect and why ?

(c) Draw a ray diagram to show the image formation for any correct set of
observations

Why does a pencil immersed in water appear bent and short ? Explain with thehelp
of a ray diagram.

(a) Write the names of :
(i) CH,;-CH,-CHO (i) CH;-CH,-OH

(b) Name the gas evolved when an alcohol reacts with sodium. Give chemical
equation for the reaction involved.

(c)  Which two of the following compounds belong to same homologous series ?
C,H,O,C,HO,,C,H,CH,O

How would the following properties of the elements vary along a period from left to
right in the Modern Periodic Table? State in brief stating reason in each case.

(i) Tendency to lose electron (i) Atomic radius (iii) Valency

List and describe in brief any three ways devised to avoid pregnancy.

If tall Peaplant(TT) is crossed with dwarf pea plant(tt). what will be the type of pea
plant in F; generation ? Show with the help of cross ? What will be the percentage
of dwarf Pea plant in F, generation ?
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21.

22,

23.

24.

25.

(a)
(b)

What are fossils ?

Explain the importance of fossils in evolutionary relationship.

Give appropriate terms for the following:

(a)
(b)
(©)

(1)
(i)
(ii)

The trait which can express itself in next generation.
The trait an organism have due to inheritance.

Origin of a new species from pre-existing one.

What is meant by dispersion of light ?
Describe the formation of rainbow in the sky.

What is meant by accommodation of eye ? Name the part of eye which helps in
this phenomenon and state how does it help.

OR
Explain in brief, convex lens is converging in nature.

A convex lens forms a real and inverted image of a needle at a distance of 50 cm
from it. Where is the needle placed in front of convex lens if the image is equal to
the size of the object ? Also find the power of the lens.

Why are covalent compounds generally poor conductors of electricity?
Draw structure of ethanoic acid

Name the compound formed when ethanol is heated with ethanoic acid in the
presence of Conc.H,SO,

Complete the following equations:
CH4 +C12 0 %mlight .

C,H;0H+O, D:Dﬁﬁnbusﬁon .
OR
What are hydrocarbons ?
Write the structural difference between saturated and unsaturated hydrocarbons.
Why is hard water not suitable for washing clothes with soap ?
Why does micelle formation take place when soap is added to water ?

What is saponification ?

Draw neat and labelled diagram showing longitudinal section of flower
(four labellings)

Which kind of contraceptive methods prevents STDs and how?
OR

With the help of diagram show asexual reproduction in Rhizopus.

How is this method advantageous for Rhizopus ?

How is mode of reproduction in unicellular differ organisms from multicellular
organisms ?
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26.

27.

28.

29

SECTION - B

Which one of the following is the best set up for tracing the path of a ray of light
through a rectangular glass slab ?

/

I 11 111 1Y
@) I (b) 1I (c) I d IV

Out of the following the best way to do the experiment on finding the focal length of a
concave mirror by obtaining the image of a distant object is to

(a) hold the mirror in hand and keep the screen in a stand kept behind the mirror

(b) hold the mirror in a stand and hold the screen in hand with the screen in front of
the mirror

(c) Keep both the mirror and screen in suitable stands with the screen put in front of
the mirror

(d) Keep both the mirror and screen in suitable stands with the screen put behind the
mirror

Out of the following four sets of materials select the one which you would like to use to
determine the focal length of a convex lens by obtaining the image of a distant object
on a screen.

Set A Convex lens, measuring scale, lens holder,screen with stand

Set B Convex lens, plane mirror, a candle, measuring scale

Set C Convex lens, concave lens, screen with stand, measuring scale
Set D Convex lens, lens holder, screen with stand, A burning candle
@ A (b) B (¢ C (d D

Two dots P1 and P2 shown in each of the following diagrams LILIII and IV denote the
positions of two points in respect of distance and direction for performing an experiment
on tracing the path of a ray of light passing through a rectangular glass slab. In which
of the four cases, one is likely to get best results ?

Pl
o1 . o1 ol
o> o’ ol2 o
) (D) (I11) (IV)
(@) I (b) II (c) III d IV
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30. Given below are few steps (not in proper sequence) followed in the determination of
focal length of given convex lens by obtaining a sharp image of a distant object.

(A) measure the distance between the lens and screen

(B) adjust the position of the lens to from a sharp image

(C) select a suitable distant object

(D) hold the lens between the object and the screen with its face parallel to the screen.
The proper sequence of steps on

@ GCADB () CDBA () CABD (d ABGCD

31. A student added acetic acid to test tube I II IIl and IV and then introduced a burning
match stick near the mouth of each test tube

o Acid o Acetic A Acetic

o c o Acid Acid Acid

o o

o o

[+ o

o ° ) )

> Potassium I Potassium [ Calcium Sodium

Hydroxide Bicarbonate : Hydroxide Carbonate
I II 111 v

The matchstik would get extinguished near the mouths of test tubes :
(@) Tand II (b) W and IV
() II'and III () TandIV

32. Leela is asked to add pinch of solid NaHCO; to a test tube containing 3mL of acetic
acid, she observed that solid NaHCO; :

(a) settles down in the test tube
(b) remains suspended in the acetic acid
(©)

(d) makes solution, which is slightly milky

reacts with acetic acid and a clear solution is obtained

33. When a mixture of acetic acid and water are shaken in a test tube, then after keeping
the mixture undistarbed for a minute, it is observed that :

(a) a turbid solution is formed

(b) a clear and homogenous solution is formed.

(c) two distinguished layers of water and acid appear
(

d) a white precipitate is formed
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34.

35.

36.

37.

38.

39.

A student dissolved copper sulphate and iron sulphate in water in two separate
beakers. The colour of these two solutions respectively are :

(a) blue,pale green

(b) pale green, blue
(©

(

d) pale green, green

blue, yellow

A zinc plate was dipped in copper sulphate solution taken in a beaker. After about 90
minutes it was observed that the colour of the solution has changed from :

(a) Dblue to pale green (b)  blue to colourless

(c) blue to reddish brown (d) colourless to blue

A slide showing several amoeba was given to a student and was asked to focus the
amoeba undergoing binary fission. What will the student look for to correctly focus on
a dividing amoeba ?

(@) An amoeba with many pseudopodia and a small nucleus

(b) A rounded amoeba with rounded nucleus
(©)

(

d) An amoeba with elongated nucleus and a constriction in the middle

An amoeba covered by a cyst and many nuclei

A student put five raisins each in two beakers A and B. Beaker A contained 50mL of
distilled water at 20° C and breaker B had 50mL of distilled water at 40° C.

After sometime the student would observe that the raisins in

(a) beaker A were more swollen than those in beaker B

(b) beaker B were more swollen than those in beaker A

(c) Dboth beakers A and B were equally swollen

(d) beaker A did swell up exactly two times as compared to that of in beaker B

At the end of the experiment to determine the percentage of water absorbed by raisins.
the raisins are wiped just before weighing. This is to ensure that :

[}

~—~ ~—

hands do not get wet

the raisins lose water before weighing

(@)
~

the weighing scale does not get wet.

A~ N /N /N
o

&

only water absorbed by raisins is weighed

Following diagrams were drawn by 4 different students on having seen a prepared
slide of budding in yeast.

f) é;? o‘? 0’5

I I 1 v

The correct diagram is :
(@ 1 (b)y 1I (c) I (d 1v
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40. Given below are the stages of binary fission in amoeba.

£ D P @

Which one out of the following would you select as the correct sequence of stages ?
(@) ABCD (by D,CAB (c) B,DAC (d CADB

41. While performing an experiment with raisins, a student recorded the following data.

Mass of water taken in the beaker = 50g
Mass of raisins before soaking = 20g
Mass of raisins after soaking = 30g
Mass of water in the beaker left after experiment =  40g

The % of water absorbed by the raisin is :

(a) 604})& x100 (b) M x100
g 50 g
(30-20) g (30-20) g

-00o0-
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11.

12.

13.
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